plate

)

)

€ Girder

€3/4” Mounting Plate with 13/16” x 2"

slofted haoles

@, Vent Hole af
(Typ.)

cts.

174" x 1/4” x 15"

(Spaced al ternately at
9" cts.)

SBC

=
at 60°F

@ @ar 60°F

2-Layers
30% (Min. )

Roof ing Felt
between plate

[y and'racess
I Bevel free end
75N 75 ) of barrier
late on
roadway face
o4 |

ELEVATION OF BARRIER

SBC)H (ALL)

INGOS_psi_to_st!| Effective: Apr. 2021 Supersedes: July 2020
S
sie 10 @ 1 ogun GENERAL NOTES: =
22 2 Finger plate shall be cut with a machine guided gas torch = at 60°F
2" from one plate. The plate from which fingers are cut may | . -
. r—@ W4 x 43 be spliced before fimgers are cut Urfoce of cut Ta1s MEDLA SHOLLD o
37479 Moohine Bolts ond Nuts with | ; NoT BE consioeRen |5 R .
, Moeh, € wia x 43 shall be perpendicular to the surface of the plate. The R b + +
13/16" x 2" norizontql slotted noles ) Round upper sdges & Fingers cut shall not exceed 1/8” in width. The centerline of e 1/2” Bent Plate Frae movemont of piora
1o contintous 7 & T 11/4” Finger Plate cut shall not deviate more than 1/16” from the position . i ree movement o
. 2 ” Vo _ _ R of centerline of cuf shown. No splicing of finger plate =
172" Bent Plat @“* 60°F € i”&”ﬂen* H(F‘i g* :‘ D3 V% x 5”5 ‘GV]‘”G or finger plote assembly will be ollowed after fingers @ (
en are ' Topgadway © bear top ond ' ore cuf. The expansion device shall be fabricated and >
“ " foco oniyy (ivp. spaced ot dbt. cfs. - Tnstalled to the crown and grade of fthe roadwa 2 )
€ 3/4”® vent Hole at abt. 12" cts. (Typ.) Recess barrier to permi+ 3/473 x 8" Long Welded shear Comnector ) " between gwdarg - 9 Y- 2 | |
free movement of plate Studs (Spaced alternately ot abt. 9" cts ‘ ?Spoge;/gwér‘;éie\§ ;3 - Plon dimen: s are based on installation at 60°F. The TATE PREFARED z (
expansion and orher dimensions shall be increased or 3/24/2021 |2 " " v T
e ks 3 oS I 7 o o \ e e U PRSI T5 T ee O ommererire | oeZtf202 B el 1ss x 2 x g 1 sioreavel L
§ 1 174" x 2% x 4 172" Slotted Well ./ ! .\ © 37 auin BN RN > ¥ 7,9 s s adivs ot instal [Gfior MO |2 x 77 Anchor Bol+ with Nut and Washer- =l ] —re. 15 x 339
x 2" x otted We = N i i ; ST | e o
(Cast in top of P/S girder) and 3/4'@ *$ \ " P 7] > > & cut e 6 S P eal, Raneester the Axponaion z 3/4” Plate with 13/16" ;‘
i 7 3/4” Mounting Plate with 13/16 R d - . : pansion = M
x 77 Anchor Bolt with Nut and Washer- 374, Mounting Plate wih 13 7‘; 7,5 @ device shal | be in accordance with Sec 1037. EITY M x 3" slotted holes =l
" B =t Structural steel for the expansion device and barrier K © P/S Girder =1
3740 Mounting Plate wifh 13/16 r A plate shall be coated with a minimum of twa coats of 08 NG - e
Roamm ; inorganic zing primer fo provids o toial dry fiim -
@ P/S Girder .y < " @ thickness of 4 mils minimum, 6 mils maximum, oTRAST 10| i‘/ih% Macnine Bolts and Nuts At °<}>| "
3/4” Plate with 13/16" == = 7, Pc. C15 x 33.9 . B 01 vonized  Tn" ateordonee witn aSTH aATZ5. MAmenars need not o vertical
_ X 3" slotted hales 1 ‘ L 2, 9 @ E] be protected from overspray. e glotted holos in sontinuous - = i
374 Plate with 13/16" :—Q Girder 1o \ DETAIL A Payment for furnishing. coating or galvanizing and o . . I <§>| 5 37479,
X'3" slotted holes via PART PLAN OF FINGER PLATE inatalling fhe structural steel for fthe expansion device SRTOCE WO = 3/4"2 x 8" Long Welded =] |Y§ bt 12
t =
Pc. €15 x 33.9 B 14 x 2 x 4 1720 Siotted 1 Pc. W24 x 104 will be considered completely covered by the contract FINGOS Shear Connector Studs 0= o,
3/4"@ Machjne Bglts and Nuts ’ : Vel | (Cast in 199 of T ; gnit price for Expansion Device (Finger P lates per |inear z {spaced ol ternately ot
w;rmwz/h T 2" nor fzontal girceri and 37470 x & . * [ Bearing - abou ¢ abt.
SIgtteq foles [n continuous aehor (e G115t 06 J 11 All noles shown for connections shall be subpunched 2 48 x 6 x 3/4 [Continuaus)
for grout for anchor bolts) 1/16- diameter (shop or field drill) ond reamed to < 11/4" Finger Plate € W4 x 43
" M B B B | _I=——4Apply profective coating to concrete h diameter in field, except noles in members =
3/4” x 8" Long Welded Bar 2 1/4" x 1/4" x 15 bents and piers (Urethane) or (epoxy) Lo be used 0s templgies ond holss for the droinoge |5 m
Sheor Connector Studs (Spaced al ternately ot 2 1o exposed concrete surface 147 Min y be drilled to 13/16-inch diameter in The shop. |o -
(Spaced alternately at abt. 97 cts.) X K X | T Ty For muiti-piece comnections. only the hoies in the [ 2 PART PLAN OF DEVICE
aboot 8" cren s * Dimensions along © Girder P template member may be drilled to 13/16-inch diameter in |3 B
z — the shop. S
‘ == il||I|E sa TYPE B BARRIER
L ek oot x / SECTION THRU DEVICE N D - 4@ Longitudinal reinforcing sTse\ 5huH be placed so that S -
inger Plate @ W4 x 43 o ends shall not be more than *1” from fhe 3/4” vertical
/ i \ ) T Tounting 1076 and Tho wes of W14 % 43 ot fho Sxponsion
1NN | N Qptional - vie
PART PLAN OF DEVICE (v | T80 00 < e i prote | PLAN o . isea i
g g Thickness = 1/4" min. Note: < —h Complete joint penstration welds utilized in the Bevel borrier
\ ! " mox Concrete shal | be forced under and around = i fabrication of the expansion device shall be P i
7 Finger plate supporting hardware. anchors. R [ mondestructively tested by an approved method. w Pl o ace
\ pd " angles and bars. Proper consol idation shall el ol o 3 y
\ 23" Weld (Typ.) be achieved by localized internal vibration Ld [——Pc. w24 Bevel barrier e
104 late on "
~ 7 (Top & Bott.) i i andwa 3 = o
y face z
- — 83%
~ c j=tpe} [ c
— I
i o $8%
DETAIL A 13" Min | 2 Sgib .
(Typ g oL
©) AR FINGER DETAIL Z 5t PART ELEVATION
Y L) at 60°F of 60°F Pc. W24 x 104 & 8o
1/2" Plote PART ELEVATION N 3 -z TE AT END OF BENT
" " 2| ine S 25
€ 3/4"@ Vent Hole at abt. 12" cts. (Typ.) Recess barrier to permit 12" Recess barrier to permit AT END OF Band Line = 25 68 BARRIER PLATE
free movement of plate /2" Plate free movement of plate BARRIER PLATE — B34} |_ LS
nE M
S | 7 ( ) 03 :
£ B x 6 x 3/4 (Continuous) a5 7
A ! ‘ OPTIONAL FINGER DETAIL z° 2 5
€1 174" x 2" x 4 1/2" Slotted Well | e 0 T "
(Cast in fop of P/S girder) and 3/4"® B 4 1 T -
x 77 Anchor Bolt with Nut and Washer- (2) ot s0°F
€11/4” x 2" x 4 1/2" Slotted Wel | M,, z —i T = Bevel
. . . . (Cast in top of P/S girder) and 3/4"® L q:ﬂ @ . E]
3/4% Mounting Plate with 13/16 x 17 Anchor Bolt with NUt and Washer- I o, C15 x 35.9 Bevel at 60°F a
x 2" vertical slotted holes L = 4 FC X 33- 4 SECTION C-C
€ /s Girder 3/47 Plate with 13/16" I =‘<> SECTION B-B =
X'3” siotted holes = SECTION C-C
3/4% Plate with 13/16" N\ ) € P/S Girder =l Vo g2y Tt s ruas
X'3" slotted holes € Girder ] < — a2l ¢ Three 3/4"0 x 6"
3/4"0 Muchme Bolfs and Nuts d " " " arrier Ve lded Sh C + 5+ d 3/4"® x 6" Long Welded
Pc. €15 x 33.9 < e ded Sheor Conmector Studs
3442 Noehjne Bolts ond Nuts ° * witn 13/ 2" nor jzontal B e RS A Plate Bt are |/ Shear Comnatior S5 Ty,
SARGNosRine Balts ond sigtted ho\ze/i in continuous -~ 3/4"8 x 6" Long ® Bent Barrier Flate
siotted nS1ea fn Cnrinuscs A /"i;;' H/@ 3/478 Vet Hole ot Shop or  ~ Welded Shear ey
B . 4 W ield we Connsctor Stud o orm
oo e e /L USA T o e T PR oo o 114 el
3/4"@ x 8" Long Welded 2174”7 x 174" x 15" {spaced ol fernately ot < —: 1/4” x 1/4” x 15" (Form FTOsh 2-Layers | —const
(Sgeqr gor\r‘\icﬂerS‘f uds. . (Spcced 0Herrvq+e\y at about 9" ct: IEEGCS‘?/ GPETG*SW at with parrier) 30% (Min. )
paced al fernately o abt. 97 ots. Roofing Felt
about 9" . 48 x 6 x 3/4 (Continuous) k\ [ 7S : Const. Joimt Batweon plate
1 174" Finger Plate € W4 x 43 : and recess
\ Bevel free end Lo .
1 1/4" Finger Plate € W4 x 43 1 1/4” Finger L—Finger plate may extend 1" of barri e 1.1/4" Finger, Finger plate may extend 1
PART PLAN OF DEVICE Plate cutside of gutter |ine plate on Plate outside of gutter Iine
roadway face
PART PLAN OF DEVICE SECTION A-A B SECTION A-A
LA TYPE D BARRIER F R PLATE EXPANSION DEVICE AT INT: BENT NO- - FrevATION o BT TYPE B BARRIER
Detailed
Checked Note: This drawing is not to scale. Follow dimensions. Sheet No. of

9~
2 @
9
Round upper edges &
VE ==
/ 7 Y
€ Fingers /
/ / /
/ Jg / / 1/2” Radius
w ¢ Wi4 x 43
€ cut
@
0

PART PLAN OF FINGER PLATE

LA

@m 60°F

1/2" Plate

48 x 6 x 3/4 (Continuous)

Recess barrier fo permit
free movement of pla

¢

3/4” Mounting Plate with 13/16”
X 2" vertical slofted holes

3747 Plate with 13/16"
x 3" slotted noles

@ P/S Grrderj

©11/4" x 2" x 4 1/2” Slotted Wel|
(Cgst in top of P/S girder) and 3/4"@
x 77 Anchor Balt with Nuf and Washer-

3/4"@ x 8" Long Welded
Shear Connector Studs
(spaced, alternately at
bout 9" cts.)

€ 3/4"@ Vent Hole at abt. 12" otfs.

PART PLAN OF DEVICE

3/4'0 Yoehine Bolte and Nuts

with 13/ 27 horizontal b
slotted ho\es in continuous

28 x6x3/4

Pc. C15 x 33.9

KQ Girder

Bar 2 1/4" x 1/4” x 15"
(Spaced alternately at
abt. 8”7 cts.)

Se——a W4 x 43

11/4" Finger Plate

RA TYPE D BARRIER

Round upper edges

at 6

PART PLAN OF FINGER PLATE

RA

1/2” Bent Plate

£ 8 x 6 x 3/4 (Continuous)

FINGO5_psi_to_stl.dgn  9:09:39 AM  3/24/202

@qr 60°F

Recess barrier to permit
free movement of piate

3/4" Mounting Plati
x 2" vertical slot

3/4” Plate with
x 3" slotted ho

@ P/S Girderj

€1 1/4” x 2" x 4 1/2"
(Cast in top of P/S gir
x 77 Anchor Bolt with N

€ 3/4"@ vent

RA TY

4

I s \

37/4"@ Machine Bolts and Nuts
with 13/16” x 2" horizontal

e with 13/16"
in continuous

ted holes slofted holes
<z X
€15 x 33.9
13718
les

KQ Girder

Bar 2 1/4" x 174" x 15"
(Spaced al ternately at
abt. 97 cts

Slotted Well
der ) and 3/4"@
ut and Washer-

3/4"@ x 8" Long Weldsd
Shear Connector Studs
(Spaced alternately at
about 8" cts.)

Hole ot abt.

ST W14 x 43

12" ots.

1 174" Finger Plote

PART PLAN OF DEVICE

PE B BARRIER

SBC

)\

1

/STANDARD DRAWING GUIDANCE (do not show on plans):
Some notes may not apply to this sheet.)

(For all finger plate drawings.

@NOY’ a guidance note. Do not replace.

~

@Gop between fingers. barrier recess gap and. for intermediate bents. gap in barrier.

@For end bem?s‘®+ 1/2"/cos( skew)

@GOD adjustment for temperature: along bridge long

@Trcmsver’se gap between fingers

itudinal

axis

@Mux?mum gap between fingers normal to joint @ 60°F.

@ Finger length.
Troﬁsverse gap between fingers:

@ Plate length

(18"+(6) 1/cos( skew)

slab detail sheet.
under barrier at end bents.

@ Delete panel for CIP slab.

not the same os®¥or skewed joints.

@ Gap between girder or between girder and end bent.

@ [nclude details of slab projection beyond ¢ W-beam under barrier on plan of
Consider similarly projection beyond front face of angle




